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1- GE (review): Consider a static economy where agents preferences
U(c,l) =In(c) + aln(1 — h)
Over consumption ¢ and hours worked h, with u, > 0,u.. < 0,u, > 0,up, <
0. worked. Production technology is:
y =zh
(a) Write down the social planner's problem of this economy and solve for
optimal allocations.
(b) Now, suppose that the social planner wants to devote G amount of production
to some goods other than private good (c), the new good is called public good.
Write the SP's problem and solve for new allocations.
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